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Geometry #9: Logical Statements
Booklet

Let p represent “It is cold” and let g represent “It is snowing.” Which P"’ Hﬂ
expression can_be-used-to-represent “It is cold and it is not snowing™?
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9. Each part that follows consists of a set of three sentences The truth val- H— i'::- Co{Ci

ues of the first two s s are given. Determine the truth value of the
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{ P pand g are both true. s true and g is false. ok Sr S Xve
(2) pis false and g is true, p and g are both false.
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B. Show or explain how you arrived at your answer, Ncﬂrt‘FU\E
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